Best model for HELP J121415.592+002752.731 at z = 0.872 x2=0.92
OPTx2=1.2 IRy2=0.52 threshold (OPT IR)=14.97 [um]

Stellar attenuated

102 4
i e Stellar unattenuated

—— Dust emission

—— AGN emission

= Model spectrum

10! 4

0 ] ® Model fluxes
10 E [ Observed fluxes

> 107! 4
£ ]
X -2 I
X 1072 4
™ E

10—3 .

1074 5

é.o—f’-;/

1]

© 1 7 —}=— (Obs-Mod)/Obs

3 ]

IR X < 17 B SRSl . & ST SI

o ]

= ]

E_l T T TTTTT T UL | T LA | T T T T LR | T T mE
& 10° 10t 102 103 104 A

Observed wavelength [um]



